Algebra 2/Trig

QUIZ A.2.6-A.2.8 (FORM A)

Mrs. Dunphy

Name:

Date:

U

Problems 1-8: Simplify each expression involving radicals. You should show enough work to clearly
communicate your thinking. Circle or box your answers. (3 pts each)
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Problems 9-13: Simplify each expression. Your answer should have the smallest exponent possible, no
radicals, and only positive exponents. (3 pts each)
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14. Rewrite in simplest exponential form and
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BONUS: Do not work on this until you have
finished the quiz. 2 pts for a correct solution.

Simplify: (b ++/b )2 5= (b ~b )2
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Algebra 2/Trig

QUIZ A.2.6-A.2.8 (FORM B)

Mrs. Dunphy
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Problems 1-8: Simplify each expression involving radicals. You should show enough work to clearly
communicate your thinking. Circle or box your answers. (3 pts each)

1. \4+416 +/64
2+ 4+ &

(et

2.

261 - 53~ 2713
2507 M

(35 (235 -%55)
VAFEE - S
2(2-%35) -(2-5)

2_ 2 rasl Nt WH L3
\fs B 4 3“%@-3@" =% &
J/ N
gi@ &G ,
GE "= (5
fl’a (5'5 Q;*m {-3‘:3 Y
2 Y 1 e k] (Y '
o6 _sim o (3 (TR, R (2T
T o~ Io ID/
5. 3/40(23/5 -3/25) o (32-V6)

Gz ()35 -V6)

(G - 3(73 - 3Jiz +{30
9.2 -2(23)-3(23)r
1§ — V3 —6bV3 4

—
“0+Y 355 2Y —IN3 o -12d3F2Y
\/5—1 @’l : ﬁ,—ﬁ——ﬁ’&” | 8.  Find the reciprocal of 7—\/5.
JBeip ] @~l A - | f 7H3 7z
3-203Y _ @@ A-23
o - ) 7+(§‘\
YL

/2



Problems 9-13: Simplify each expression. Your answer should have the smallest exponent possible, no

radicals, and only positive exponents. (3 pts each)
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14. Rewrite in simplest exponential form and

simplest radical form: 1\0/5 . @ (4 pts)
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BONUS: Do not work on this until you have
finished the quiz. 2 pts for a correct solution.

Simplify: (x+\/;)2 —(l‘ —\/;).2
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